1. Which graph represents a linear function?
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2. What is the slope of the line that passes
through the points (-6, 1) and (4, -4)?
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3. Students in a ninthgrade class measured their

heights, . in centimeters. The height of the
shortest student was 155 cm, and the height
of the tallest student was 190 cm. What
inequality represents the range of heights?

A. 155 < h <190
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C. h =155 or h<19C ( ]

D. h>155 or h<190 199 140
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4. Thefaces of a cube are numbered from 1 to
6. Ifthe cube is tossed once, whatis the
probability that a prime number or a number
divisible by 2 is obtained?
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5. Which ordered pairis a solution set of the
following system of inequalities?

L
1< =X
Yy<3

ya-x+1 4

A. (-5,3) C. (3,-5)

B. (0,4) D. ) (4,0)

6. Which expression is equivalent to (3x%)3?

A. 9x° . 275

B. 9x° @ 27x°
a % b
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7. Jack bought 3 slices of cheese pizza and 4
slices of mushroom pizza fora total cost of
$12.50. Grace bought 3 slices of cheese
pizza and 2 slices of mushroom pizza fora
total cost of $8.50. What s the cost of one

slice of mushroom pizza?
A. $1.50 C. $3.00

B.) $2.00 D. $3.50
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8. What is half of 287



9. Which equation representsa line thatis
paralleltothe line y = —4x + 5?
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1
B. y=—7x+5
C. y=2x+3
.y =3x

D. y=4x+5

10. Pam is playing with red and black marbles.
The numberof red marbles she has is three
more than twice the number of black
marbles she has. She has 42 marbles in all.
How many red marblesdoes Pam have?
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A. 13 @ 29

D. 33
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11. What is %2 expressed in simplest radical

form?
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Note: This is not the only way to break it down, but it is the most
efficient because 16 is the largest perfect square factor of 32.
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12. Which equation most closely represents the
line of best fit for the scatter plot below?
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13. Ina linear equation the independent ( )(.)

variable increases at a constant rate while

the dependent variable

constantrate. The

A. Zero
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Net result is something

highlighted graph. It isdecreasing from

left to right.
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14. Which ordered pairis a solutionto the
system of equations y = x and

y=x%2-2?
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15. The gas tankin a carholds a total of 16
gallons of gas. The cartravels 75 miles on
4 gallons of gas. Ifthe gastankisfullat = +I£
the beginning of a trip, which graph = m
represents the rate of change in the am
of gas in the tank?
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16. If 3ax + b = c, then x equals

A c—b+3a pe ==
3a
B. c+b—3a D. 2=
3a




